
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 350 500 650 800 950Différence commune:2. 163 168 183 188 193Différence commune:3. 435 485 535 585Différence commune:4. 130 140 150Différence commune:5. 167 267 567 767 967Différence commune:6. 67 167 567 667 767 867Différence commune:7. 309 319 329 334 344 349Différence commune:8. 47 147 347 947Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 275 350 425 500 575 650 725 800 875 950Différence commune: 752. 148 153 158 163 168 173 178 183 188 193Différence commune: 53. 385 435 485 535 585 635 685 735 785 835Différence commune: 504. 120 125 130 135 140 145 150 155 160 165Différence commune: 55. 67 167 267 367 467 567 667 767 867 967Différence commune: 1006. 67 167 267 367 467 567 667 767 867 967Différence commune: 1007. 309 314 319 324 329 334 339 344 349 354Différence commune: 58. 47 147 247 347 447 547 647 747 847 947Différence commune: 100Mathslibres.com


